jet / dm_3jet [pb/GeV]

do 3

Ratio to DO

=
o
S

=
o
w

=
o
N

10

[EEY

0.5

1960 GeV ppbar Jets
I T T I T I I I I I I I T
L | _ | | %
- Three-jet mass (D0 P, >70GeV,ly|<24) —z
- | o=
- —H©
u PN
L — Al
o
— -
— =
— o™
B 1o
— .=
na
B %)
™
— — <t
— M
- s
— m DO 19
- --0-- Herwig++ 2.7.1 default _i
= ---- Herwig 7.2.1 default =
~ —a— Pythia 8.308 default s
[~  --¥-- Pythia 8.308 vincia-default 1<
----- ¢ Sherpa 2.2.9 default 8_
— =2
— : s
— : o
L : 1e
| | | | | 1 | | | | I | |_ E
:I | T T T ,, T | T T T T |:
— -2
1
— —0.5
1 " | " 1 1 1 1 " | " 1 1 .‘.Y 1 " |
500 1000 1500

m_3jet [GeV]



	Contents
	Page 1


